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Q2  Define the following: ‘ (20)

0] Momaent generating function

(ii) Baye's theorem

(i)  Mathematical expactation

(iv)  Four properties of Normal distribution
(v)  Poisson distribution

Q.3 If 3 books are picked at random from a shelf containing 6 novels, 4 poems books (05)
and a dictionary, what is the probability that
(a) the dictionary is selected,
(b) 2 novels and 1 poem book are selected?
Q4  The probability that a married man watches a certain T.V. show is 0.4 and the (06)
probability that his wife watches the show is 0.5. The probability that a man

watches the show given that his wife does, is 0.7. Find the probability that

(a) a wife watches the show, given that her husband does;
(b) At least one person of a married couple will watch the show.

Q5 A continuous random variable X that can assume values between 2 and 5 has {08)
density function given by f (x) = A (1 +X)
Find (a) A (b) median (c) P(3< X <4)

Q.6 The 1Qs of 1000 applicant to a certain college are approximately normally (05)
distributed with a mean of 110 and a standard deviation of 15. If the college
required an 1Q of at least 95, how many of these students will be rejected on this
basis?

Q7  Derive Mean-deviation about median for normal distribution (1, o). (05)

Q8  For a Poisson distribution P (X = 1) = 0.3650 and P (X = 2) = 0.1606 (05)
find P (X = 3)
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Q.1. Encircle the right answer cutting and overwriting is not allowed. (10x1=10)
Q.1 Encircle the correct answer in the following. (10)

I.  The joint probability of two dependent events Aand B is:
(a) P(A)+P(B)-P(ANB) (b) PAP®B)
(c) PAYPE@A) (d) P{A)+P(B)
il. P(A)=0.65 P (B)=0.45, which of the following statements is true
' (a) 'Aand B are dependent (b) AandBare mutually exclusive
{c) Aand B are not mutually exclusive (d) Aand B are independent
. IfXandY are two independent variables, then Var (X-Y) is equal to

(a) Var(X)-Var(Y) (b) Var(X)+Var{Y)=2cov(X,Y)
(¢) Var(X)+Varly) (d) None ofabove
IV. The Cumulative distribution fuction of a random variable X denoted by F (a) is
defined as
(@) Fa)=P(Xsa) (b) Ra)=P(x22a)
(©) Fa)=PX=x) (d) None of above.
v. For binomial distribution b (x; 12, 0.6), the mean is:
(@) ¢ () 72
(c) 288 (d 170
vI. A binomial distribution may be approximated by a Poisson distribution when:
{a) nislarge and P is small : (b) nissmalland Pislarge
(c) Both nand P are small (d) Bothnand P are large
Vil. Variance of a hyper geometric distribution , h (x; N, n, K) is:
(@) np (b) nPq
(c) N-=n {d) None of these -
(33)

Whef9P=*]KV , P+gqg =1
Vill. A continuous probability distribution is not represented by:

(a) Agraph (b) Atable
(¢) A Mathematical function (d) A density function
iX. For a normal distribution with mean 40 and variance 10, how much area wil
be scanned to left of X = 40 :
(a) 065 (b) 05
(c) 095 (d) Zero
X. In a normal distribution N(u,o)Quartile deviation is equal to:
(a) 4 ® 2
5° 39

{¢) 20 (d) 0950
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